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Quesito	
  1	
  

Un	
  pilota	
  vuole	
  stabilire	
  un	
  nuovo	
  record	
  su	
  un	
  percorso	
  di	
  50	
  km:	
  percorrerlo	
  alla	
  velocità	
  media	
  di	
  100	
  
km/h.	
  A	
  causa	
  di	
  alcuni	
  problemi	
  tecnici	
  impiega	
  40	
  minuti	
  per	
  percorrere	
  i	
  primi	
  25	
  km.	
  A	
  quale	
  velocità	
  
deve	
  percorrere	
  il	
  resto	
  del	
  percorso	
  (andando	
  a	
  velocità	
  costante)	
  per	
  riuscire	
  nel	
  suo	
  intento?	
  

(A) Nessuna	
  velocità	
  glielo	
  consente,	
  (B)	
  50	
  km/h,	
  (C)	
  100	
  km/h,	
  (D)	
  150km/h,	
  (E)	
  200	
  km/h.	
  

	
  

Quesito	
  2	
  

Alberto,	
  Barbara	
  e	
  Clara	
  giocano	
  in	
  un	
  grande	
  piazzale	
  dove	
  ci	
  sono	
  2008	
  birilli.	
  Alberto	
  butta	
  giù	
  il	
  triplo	
  dei	
  
birilli	
  buttati	
  giù	
  da	
  Barbara,	
  che	
  a	
  sua	
  volta	
  butta	
  giù	
  il	
  doppio	
  dei	
  birilli	
  buttati	
  giù	
  da	
  Clara.	
  Quanti	
  birilli	
  al	
  
massimo	
  può	
  aver	
  buttato	
  giù	
  Alberto?	
  

(A)	
  1321,	
  (B)	
  1338,	
  (C)	
  1342,	
  (D)	
  1353,	
  (E)	
  1362.	
  

	
  

Quesito	
  3	
  

Pietro	
  e	
  Paolo	
  festeggiano	
  il	
  loro	
  onomastico	
  in	
  pizzeria	
  con	
  i	
  loro	
  amici.	
  Alla	
  fine	
  della	
  cena	
  il	
  conto	
  viene	
  
diviso	
  in	
  parti	
  uguali	
  tra	
  tutti	
  i	
  presenti	
  e	
  ciascuno	
  dovrebbe	
  pagare	
  12	
  Euro.	
  Con	
  grande	
  generosità	
  però,	
  gli	
  
amici	
  decidono	
  di	
  offrire	
  la	
  cena	
  a	
  Pietro	
  e	
  Paolo;	
  il	
  conto	
  viene	
  nuovamente	
  diviso	
  in	
  parti	
  uguali	
  tra	
  gli	
  
amici	
  di	
  Pietro	
  e	
  Paolo	
  (cioè	
  tutti	
  i	
  presenti	
  esclusi	
  Pietro	
  e	
  Paolo),	
  e	
  ciascuno	
  di	
  loro	
  paga	
  16	
  Euro.	
  Quanti	
  
sono	
  gli	
  amici	
  di	
  Pietro	
  e	
  Paolo?	
  

(A) 6,	
  (B)	
  8,	
  (C)	
  10,	
  (D)	
  12,	
  (E)	
  16.	
  

	
  

Quesito	
  4	
  

Su	
  Marte,	
  il	
  Gran	
  Ciambellano	
  dell’Istruzione	
  Marziana	
  ha	
  dichiarato	
  che	
  il	
  prossimo	
  anno	
  scolastico	
  ridurrà	
  
del	
  30%	
  il	
  numero	
  dei	
  maestri	
  di	
  scuola	
  e	
  che	
  a	
  coloro	
  che	
  rimarranno	
  in	
  servizio	
  lo	
  stipendio	
  sarà	
  
aumentato	
  del	
  35%.	
  La	
  spesa	
  complessiva	
  per	
  gli	
  stipendi	
  dei	
  maestri	
  quindi:	
  

(A)	
  si	
  ridurrà	
  del	
  5,5%,	
  (B)	
  si	
  ridurrà	
  del	
  5%,	
  (C)	
  aumenterà	
  del	
  5%,	
  (D)	
  resterà	
  invariata,	
  (E)	
  aumenterà	
  del	
  
7%.	
  

	
  

Quesito	
  5	
  

Per	
  quanti	
  valori	
  distinti	
  del	
  numero	
  reale	
  b	
  l’equazione	
  

x2	
  +	
  bx	
  −	
  16	
  =	
  0	
  ,	
  

ha	
  due	
  soluzioni	
  reali	
  (eventualmente	
  coincidenti)	
  e	
  queste	
  sono	
  entrambe	
  numeri	
  interi?	
  

(A)	
  Due,	
  (B)	
  tre,	
  (C)	
  quattro,	
  (D)	
  cinque,	
  (E)	
  sei.	
  



Quesito	
  6	
  

Dove,	
  secondo	
  te,	
  è	
  meglio	
  rappresentare	
  l’insieme	
  dei	
  numeri	
  	
  naturali?	
  
A)su	
  una	
  semiretta	
  orientata	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

B)su	
  una	
  retta	
  orientata	
  

C)su	
  una	
  retta	
  

D)su	
  una	
  semiretta	
  

	
  

Quesito	
  7	
  

Manuel	
  ha	
  12	
  anni;	
  sapendo	
  che	
  l’età	
  di	
  suo	
  fratello	
  Ivan	
  è	
  i	
  ¾	
  di	
  quella	
  di	
  Manuel,	
  quanti	
  anni	
  ha	
  Ivan?	
  

	
  (A)	
  9,	
  (B)	
  16,	
  (C)	
  12,	
  (D)	
  24,	
  (E)	
  14.	
  

	
  

Quesito	
  8	
  

Quanto	
  vale	
  il	
  perimetro	
  di	
  un	
  triangolo	
  rettangolo	
  se	
  l’ipotenusa	
  	
  e	
  un	
  cateto	
  misurano	
  rispettivamente	
  5	
  
cm	
  e	
  3	
  cm	
  ?	
  

(A)	
  16,	
  (B)	
  12,	
  (C)	
  4,	
  (D)	
  8,	
  (E)	
  14.	
  

	
  

Quesito	
  9	
  

Sulla	
  cartina	
  di	
  una	
  città	
  in	
  scala	
  1:2000	
  l’edificio	
  di	
  una	
  scuola	
  è	
  lungo	
  50mm.	
  Qual	
  è	
  la	
  lunghezza	
  reale	
  

dell’edificio?	
  

(A)	
  500mm,	
  (B)	
  100m,	
  (C)	
  200m,	
  (D)	
  20m,	
  (E)	
  1500mm.	
  

	
  

Quesito	
  10	
  

La	
  Polisportiva	
  “I	
  tropici”	
  ha	
  organizzato	
  un	
  torneo	
  di	
  calcio	
  a	
  cui	
  partecipano	
  3	
  squadre	
  ciascuna	
  composta	
  

da	
  15	
  giocatori	
  (riserve	
  comprese)	
  con	
  maglie	
  numerate	
  da	
  1	
  a	
  15.	
  La	
  notte	
  prima	
  delle	
  partite	
  ha	
  nevicato	
  

e	
  per	
  poter	
  giocare	
  è	
  necessario	
  spalare	
  la	
  neve	
  dal	
  campo.	
  Viene	
  deciso	
  allora	
  di	
  nominare	
  un	
  gruppo	
  di	
  3	
  

spalatori	
  scegliendo	
  un	
  giocatore	
  per	
  squadra	
  in	
  modo	
  che	
  non	
  ci	
  siano	
  due	
  giocatori	
  con	
  lo	
  stesso	
  numero	
  

di	
  maglia.	
  In	
  quanti	
  modi	
  diversi	
  può	
  essere	
  formato	
  il	
  gruppo	
  degli	
  spalatori?	
  

(A)	
  48,	
  (B)	
  455,	
  (C)	
  1125,	
  (D)	
  2730,	
  (E)	
  3375.	
  

	
  

	
  



Quesito	
  11	
  

Un	
  muratore	
  deve	
  costruire	
  un	
  muretto	
  alto	
  1m	
  e	
  lungo	
  5	
  m	
  usando	
  mattoni	
  cubici	
  di	
  20	
  cm	
  di	
  lato.	
  Quanti	
  

mattoni	
  dovrà	
  impiegare?	
  

(A)	
  100,	
  (B)	
  125,	
  (C)	
  200mm,	
  (D)	
  150,	
  (E)	
  1000.	
  

	
  

Quesito	
  12	
  

Uno	
  studente	
  di	
  Fibonacci	
  inventò	
  una	
  sequenza	
  di	
  numeri	
  definita	
  in	
  questo	
  modo:	
  il	
  primo	
  e	
  il	
  secondo	
  

numero	
  della	
  sequenza	
  sono	
  0	
  e	
  1	
  rispettivamente;	
  ogni	
  numero	
  della	
  sequenza,	
  dal	
  terzo	
  in	
  poi,	
  è	
  pari	
  alla	
  

somma	
  di	
  tutti	
  i	
  numeri	
  che	
  lo	
  precedono	
  (lui	
  escluso!).	
  Qual’è	
  il	
  quindicesimo	
  numero	
  della	
  sequenza?	
  

(A)	
  377,	
  (B)	
  2084,	
  (C)	
  2584,	
  (D)	
  3012,	
  (E)	
  4096.	
  

	
  

Quesito	
  13	
  

Giovanni	
  vuole	
  disegnare	
  un	
  quadrato	
  formato	
  da	
  nove	
  caselle	
  (tre	
  caselle	
  per	
  lato)	
  e	
  scrivere	
  in	
  ogni	
  

casella	
  un	
  numero	
  a	
  scelta	
  tra	
  0,	
  1,	
  2,	
  3,	
  4,	
  in	
  modo	
  che	
  fissata	
  comunque	
  una	
  riga,	
  una	
  colonna	
  o	
  una	
  

diagonale	
  del	
  quadrato,	
  la	
  somma	
  dei	
  numeri	
  presenti	
  nelle	
  sue	
  caselle	
  sia	
  sempre	
  uguale	
  a	
  4.	
  Quanti	
  

diversi	
  quadrati	
  può	
  costruire?	
  

(A)	
  Nessuno,	
  (B)	
  1,	
  (C)	
  2,	
  (D)	
  3,	
  (E)	
  4.	
  

	
  

Quesito	
  14	
  

Su	
  Giove	
  si	
  corre	
  oggi	
  la	
  Grande	
  Maratona,	
  lunga	
  2008	
  chilometri,	
  a	
  cui	
  partecipa	
  l’80%	
  degli	
  abitanti	
  del	
  

pianeta.	
  Dopo	
  due	
  chilometri	
  il	
  95%	
  dei	
  partecipanti	
  si	
  ritira;	
  i	
  restanti	
  2000	
  corridori	
  arrivano	
  al	
  traguardo.	
  

Quanti	
  abitanti	
  ha	
  Giove?	
  

(A)	
  20	
  000,	
  (B)	
  40	
  000,	
  (C)	
  50	
  000,	
  (D)	
  80	
  000,	
  (E)	
  100	
  000.	
  

	
  

Quesito	
  15	
  

La	
  casa	
  e	
  la	
  scuola	
  di	
  Pietro	
  si	
  trovano	
  alle	
  due	
  estremità	
  di	
  una	
  strada	
  rettilinea.	
  La	
  mamma	
  di	
  Pietro	
  esce	
  

di	
  casa	
  e	
  si	
  dirige	
  verso	
  la	
  scuola	
  nello	
  stesso	
  momento	
  in	
  cui	
  Pietro	
  esce	
  da	
  scuola	
  e	
  si	
  dirige	
  verso	
  casa.	
  La	
  

mamma	
  di	
  Pietro	
  cammina	
  a	
  velocità	
  doppia	
  rispetto	
  a	
  Pietro.	
  Quanta	
  parte	
  del	
  cammino	
  da	
  casa	
  a	
  scuola	
  

avrà	
  percorso	
  la	
  mamma	
  di	
  Pietro	
  nel	
  momento	
  in	
  cui	
  lo	
  incontra?	
  

(A)	
  1/3,	
  (B)	
  2/5,	
  (C)	
  1/2,	
  (D)	
  2/3,	
  (E)	
  3/4.	
  

	
  


